Example Given the two Solution To compute fog(x), evaluate £ rxy
funections whose rules are: gix)
£(x) = =2+l Replace x in £(x) by gz}
: . =3
_ —xt2 of-et2Y | 3x-1
8 = 3] £x) _ =2k sy AT
Compute the rule for the 8 — Ix~1 3x-1
composite fogix) Ix-1
2x-44+3x-1
Ix-1 - —o¥=3_ _ _x-1
—51+2-0x+3 =~10=+5 =-2x+l
3x-1i
Answer fog(x) = x-1
SeSee =2zt
{Exercise For each ﬁair of functions, Angwers
compute the required composite.
o f(x) = 2K2
gol(x) = -5
(x) = 2%t ~7x-2
g 3x+2
2. £{x) = -3x+1
fog(x) = Ax=15
i -
g_(x) 723 2%-3
4x-3
3, £(x) e
_ gof (x) = ~ 1137
gt = = 453
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